: .
# =

[Fige:ul MRTFA - EEDEETNOHS L DX

E#Bb(ﬂﬂﬁz%#h L)
A=




N 3 // 3§4 DD ‘\\‘\\‘ / %%Ffrﬁ% I -151K2281 £ NBEOBTNOBE L
;I \ \‘ \\ proge =23 [ [BLweEosthosdLiox s
S \ \‘ \‘
A N ) N FR7EH TmEmEA REDBZNDHZ L ORI
(o e
5\ = \ \\
fes il | -
25 \ “\ L
\\‘ \“ ge o ‘],
f \ \\\ 336 . 356 435
\— 7 7 ‘\‘ “\ | ‘
o FB \ \“\ “\ /LFW
] “\ ‘\\
=Ry, %
D / \\ \ 49.5
/ S / /7 b =
[] S
56 0) AN A
<o ’ﬁf? 3 “ \\\ 3
A ° D& /= £0 200 E O’m 2
: 7
5 ol
56.7
D 58.4)
55.6
D588
)
‘ 54.9&
‘ 56.6
o O
|
35.9\
\
0_20 40 80 COEEEHLGLGhEEHELZL)
1N/ A AN Tz




